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dans 'expression

(1-2x)°(1 + 4x2°(1 + 2x)°

quel est le

coefficient de | x*¢ | ?
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(1 - 2x)5.(1 + 4x2)5.(1 + 2x)°5

coefficient de x*2 = ?

rappels:
e a2 - b2 = (a - b)(a + b)
e (a + b))% = a% + 5a*b + 10a3b? + 10a2%b3® + 5ab* + bS

= a® - 5a%*b + 10a3b? - 10a2?b3* + 5ab?% - bs
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(GRS 25 ) o= H(FINE = 45 s =N (]l 5 1=

(1 - 2x)5-(1 + 2x)5-(1 + 4x2?)>

[(1 - 2x)-(1 + 2x)]5:(1 + 4x?)S5

(1 - 4x2)5:(1 + 4x3?)>

[(1 - 4x2):(1 + 4x?)]°®

(1 - 16x4)5

15 - 5-1%416x% + 10-13(16x4)2 - 18-12(16x4)3 + 5-1-(16x%)% - (16x%)5

---> = -10-16°x*2

le coefficient de x*2 est -10-163

-10-163

-5.2.163

-5.2.(24)3
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